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A~ 2 LR 2 R %k
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EEN =3 0.0%
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%Tﬁ:&fﬁ BEER ZA 13T R TE AT BE S F AN b v
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7N~ B LRTR Bt BEE R

100.0%
90.0%
80.0%
70.0%
60.0%
50.0%
40.0%
30.0%
20.0%
10.0%

0.0%

SR o B LEE | KAV LB szt 2 %giﬁé T | RRERLLEANE
AR 0.0% 0.0% 20.0% 0.0% 0.0% 50.0% 0.0%
R 66.7% 100.0% 40.0% 60.0% 25.0% 50.0% 100.0%
mIEE R 33.3% 0.0% 40.0% 40.0% 75.0% 0.0% 0.0%

nIEEIEE s e NRE
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A 'S S " = 4 > L
g%il%g&fifz E..«!‘-a‘a
vk & 164 >
F R 64 B
wEéRE D 0K
Yl A Qs SEE2 JA
[ FEBF]
1. SFEEEHYEZEAR 2
REY Hortk BRESE | BEESTE
BRHY  TEP(EREEN) 53 82.8 82.8 82.8
F-E2 6 9.4 9.4 92.2
ZEfFEEE 1 1.6 1.6 93.8
¥ 3 4.7 4.7 98.4
AR TR AT TAE 1 1.6 1.6 100.0
4aFn 64 100.0 100.0
2. A TAEZ?
RE Horkk BRESE | BEESEE
BRHT 2Rk 53 82.8 82.8 82.8
P& 11 17.2 17.2 100.0
B 64 100.0 100.0
3. SEMIATRAUMRE M E 2
R H5rEE BARESEE | BEESEE
By AL 5 7.8 7.8 7.8
BUFERF 3 4.7 4.7 12.5
=% 1 1.6 1.6 14.1
IEEFIERE (S8 AeTE) 44 68.8 68.8 82.8
B 11 17.2 17.2 100.0
T 64 100.0 100.0
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A4S H AR HIERFT? (5558 SR A T Al DY A F AR s 2R )?

RE Horkk BRESE | BEESE
AR BEIEEE 2 3.1 3.1 3.1
TGP 2 3.1 3.1 6.3
SEFEER 4 6.3 6.3 12.5
AR /BT P 1 1.6 1.6 14.1
=3 CE) Y 42 65.6 65.6 79.7
ERERERF 2 3.1 3.1 82.8
P& 11 17.2 17.2 100.0
4 64 100.0 100.0
5. IMHEIESEETE ?
RE [Epaen BRESTEE | EBEESE
FEEVE O 53 82.8 82.8 82.8
B 11 17.2 17.2 100.0
| 64 100.0 100.0
6. SAfHEHE A% ?
RE Horkk BRESE | BEESE
BT BEE 64 100.0 100.0 100.0
7. BB AT A TEERA BZ /D ? (B8
RE [Epaen BRESEE | EBEESE
By 43EESEIT 29 45.3 45.3 45.3
LSEE10ETT 24 37.5 37.5 82.8
P& 11 17.2 17.2 100.0
4 64 100.0 100.0
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8. HAIEERITTIRE B —8 ?

e Hoth | AX%ESH | BEEESE
AR ARG 2 3.1 3.1 3.1
HE -~ EREAL2 2 3.1 3.1 6.3
Y i 2 3.1 3.1 9.4
BRI 46 71.9 71.9 81.3
SR 1 1.6 1.6 82.8
& 11 17.2 17.2 100.0
il 64 100.0 100.0
9-1. SHHEASRAE TIERTHER Ry fn] ?
KE Hoth | A%ESE | BEESt
AR EXN 52 81.3 81.3 81.3
i 1 1.6 1.6 82.8
#R(E 11 17.2 17.2 100.0
R 64 100.0 100.0
9-2. EHERN - FHHEPFTEMRTTE ?
R Btk | AREDEE | BEESEE
E=ESCOI (v 3 4.7 4.7 4.7
ERR 1 1.6 1.6 6.3
== 15 23.4 23.4 29.7
T 15 23.4 23.4 53.1
% 1 1.6 1.6 54.7
&b 7 10.9 10.9 65.6
/=0 4 6.3 6.3 71.9
TR 1 1.6 1.6 73.4
RS 1 1.6 1.6 75.0
=Lt 4 6.3 6.3 81.3
BRE 1 1.6 1.6 82.8
HRE 11 17.2 17.2 100.0
il 64 100.0 100.0
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9-3. BEREEN - SHEEES I > FIAT HAR S ?

K Btk | BXRESE | BEEAESEE
AR BEE 52 81.3 81.3 81.3
ERE 11 17.2 17.2 98.4
il 1 1.6 1.6 100.0
4 64 100.0 100.0
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(58 BIEHE]
L SRR (FT) SRS - ARTRAE LR ?

RE Hotk | ARESE | BRES
AR IEEAED 19 29.7 29.7 29.7
HEE) 31 48.4 48.4 78.1
REEB) 2 3.1 3.1 81.3
IEHIHEY 1 1.6 1.6 82.8
BkE 11 17.2 17.2 100.0

il 64 100.0 100.0

2. WHAMNTIENE > BEHREEFHEERNR?

R Btk | AX%EDEE | BEESEE
ARy RE 51 79.7 79.7 79.7
REE 2 3.1 3.1 82.8
k& 11 17.2 17.2 100.0
il 64 100.0 100.0

3. JCHAIFT B Ay SERE T B T AE R Z R AR TR E Ryfa] 2

KE Hootk | ARES | BEREESt
AR IEEFE 16 25.0 25.0 25.0
FE 30 46.9 46.9 71.9
fe A 5 7.8 7.8 79.7
ArFE 1 1.6 1.6 81.3
IFEARTTE 1 1.6 1.6 82.8
P& 11 17.2 17.2 100.0
4R 64 100.0 100.0
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4. 3 HAT TR R R TS fyfr] 2

R HotE | ARESE | EEEST
B IR 12 18.8 18.8 18.8
ST 36 56.3 56.3 75.0
g 5 7.8 7.8 82.8
B 1 17.2 17.2 100.0
i 64 100.0 100.0
5. B E RN R TEAEY) > A8 R KA Ry{ ?

5.1 HIEMIERL

RE Horkk BRESE | BEESEE
PRV N 11 17.2 17.2 17.2
e 42 65.6 65.6 82.8
B 11 17.2 17.2 100.0
4aFn 64 100.0 100.0
5.2 EIL[EIEE R R AR
RE Horkk BRESE | BEESEE
PRV N 27 42.2 42.2 42.2
e 26 40.6 40.6 82.8
B 11 17.2 17.2 100.0
4aFn 64 100.0 100.0
5.3 SRR EIEIEEE)
RE Horkk BRESE | BEESEE
FEEVEO I N 21 32.8 32.8 32.8
e 32 50.0 50.0 82.8
B 11 17.2 17.2 100.0
4aFn 64 100.0 100.0

44



54 BINEFRESE

RE Btk BRESE | BEESE
By R 33 51.6 51.6 51.6
S 20 31.3 31.3 82.8
B 11 17.2 17.2 100.0
US| 64 100.0 100.0
5.5 tLEEH)
RE Horkk BRESE | BEESE
PRV S 50 78.1 78.1 78.1
e 3 4.7 4.7 82.8
B 11 17.2 17.2 100.0
| 64 100.0 100.0
56 :EEEH
RE Horkk BRESE | BEESE
By R 52 81.3 81.3 81.3
S 1 1.6 1.6 82.8
B 11 17.2 17.2 100.0
| 64 100.0 100.0
5.7 SHAF ISR MG
RE Horkk BRESE | BEESE
FEEVEN I S 49 76.6 76.6 76.6
S 4 6.3 6.3 82.8
B 11 17.2 17.2 100.0
T 64 100.0 100.0
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5.8 T LR ~ e

RE Btk BRESE | BEESE
By R 51 79.7 79.7 79.7
S 2 3.1 3.1 82.8
B 11 17.2 17.2 100.0
US| 64 100.0 100.0
5.9 E(EIosiEERBH
RE [Epaen BRESEE | BEBEESE
PR VGO N 50 78.1 78.1 78.1
e 3 4.7 4.7 82.8
P& 11 17.2 17.2 100.0
4 64 100.0 100.0
5.10 HAthg/[%k
RE Horkk BRESE | BEESEE
PRV N 53 82.8 82.8 82.8
P& 11 17.2 17.2 100.0
4EF 64 100.0 100.0

6. MRIZERER TNV - IR EZEH 2R I5R L N IRERE ST ?

6.1 JEEFRERE T
T Hote | ARESE | BEESTTE
LGOS 21 32.8 32.8 32.8
iz 43 67.2 67.2 100.0
4l 64 100.0 100.0
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6.2 FHEEERET]
RE Btk BRESE | BEESE
B R 23 35.9 35.9 35.9
S 41 64.1 64.1 100.0
4aFn 64 100.0 100.0
6.3 APEEEIRE
RE Horkk BRESEE | BEESEE
FEEVEO I N 28 43.8 43.8 43.8
e 36 56.3 56.3 100.0
4 64 100.0 100.0
6.4 EXE1ERE
RE Horkk BRESE | BEESEE
PRV N 54 84.4 84.4 84.4
e 10 15.6 15.6 100.0
4EF 64 100.0 100.0
6.5 [IREMEHEET]
RE [Epaen BRESTEE | EBEESE
FEE VGO N 47 73.4 73.4 73.4
e 17 26.6 26.6 100.0
| 64 100.0 100.0
6.6 ElHTAE
RE Horkk BRESE | BEESE
B A 61 95.3 95.3 95.3
HEE 3 4.7 4.7 100.0
4aFn 64 100.0 100.0
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6.7 LIFsCH: ~ BILRU R EHAE

RE Btk BRESE | BEESE
By R 58 90.6 90.6 90.6
BEFE 6 9.4 9.4 100.0
4aFn 64 100.0 100.0
8 &\ RHYERISE
RE Horkk BRESEE | BEESEE
B REE 61 95.3 95.3 95.3
e 3 4.7 4.7 100.0
4 64 100.0 100.0
6.9 YNsERET]
RE [Epaen B ESTEE | EBEEST
FEEVEN I S 59 92.2 92.2 92.2
e 5 7.8 7.8 100.0
| 64 100.0 100.0
6.10 HAt

KE otk | ARESE | BEESE

R R 60 93.8 93.8 93.8
ERES 4 6.3 6.3 100.0
HErn 64 100.0 100.0

7. MRBEEER TR - TN IR e E R A ?

7.1 JEIRFEERE )

KE otk | ARESE | BEESE

R R 32 50.0 50.0 50.0
ERES 32 50.0 50.0 100.0
HErn 64 100.0 100.0
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7.2 FHEEEERET]
RE Btk BRESE | BEESE
By R 30 46.9 46.9 46.9
S 34 53.1 53.1 100.0
4aFn 64 100.0 100.0
1.3 NIEHEhRE
RE Horkk BRESE | BEESE
PRV S 31 48.4 48.4 48 .4
HEE 33 51.6 51.6 100.0
4aFn 64 100.0 100.0
7.4 BEXETERE
RE =5tk BRESE | BEESE
By R 37 57.8 57.8 57.8
S 27 42.2 42.2 100.0
4aFn 64 100.0 100.0
7.5 [REREFEET]
RE Horkk BRESE | BEESE
By R 43 67.2 67.2 67.2
e 21 32.8 32.8 100.0
4aFn 64 100.0 100.0
7.6 AlHEE
RE Horkk BRESE | BEESEE
FEEVEO I N 64 100.0 100.0 100.0
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7.7 LIEsCH: ~ BRI E RS

RE Btk BRESE | BEESE
By R 55 85.9 85.9 85.9
HEE 9 14.1 14.1 100.0
4aFn 64 100.0 100.0
7.8 EilRHZEMEE
RE Horkk BRESE | BEESE
PRV S 62 96.9 96.9 96.9
HEE 2 3.1 3.1 100.0
4aFn 64 100.0 100.0
7.9 JNEERET
RE =5tk BRESE | BEESE
By R 63 98.4 98.4 98.4
S 1 1.6 1.6 100.0
4aFn 64 100.0 100.0
7.10 HAr
RE [Epaen BRESTEE | EBEESE
FEEVEN I S 64 100.0 100.0 100.0
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8. WIREHAFEEHKEGHEE > &, B

ERGEEH W —EEEFT 2

R Horkh BRESE | BHEESTE
BRI HEEM 2 3.1 3.1 3.1
EAREERFY 1 1.6 1.6 4.7
BRBT 2P 1 1.6 1.6 6.3
B EEE R 19 29.7 29.7 35.9
an==i o7t 2 3.1 3.1 39.1
Bl ERFT 3 4.7 4.7 43.8
HAth 22 3 4.7 4.7 48.4
R HEETRK 15 23.4 23.4 71.9
ASCEEFT 4 6.3 6.3 78.1
BT 1 1.6 1.6 79.7
& AT Ry R EE 2 3.1 3.1 82.8
{ERRERF 1 1.6 1.6 84.4
[SEFEFEL I 7 10.9 10.9 95.3
A ERER 3 4.7 4.7 100.0
4R 64 100.0 100.0
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1. BERCRERGSHE

—_—

(=% HERBERIEHE]

RE Hotk | ARESE | BRES
AR IEERE 24 37.5 37.5 37.5
WE 38 59.4 50.4 96.9
R 2 3.1 3.1 100.0
4 64 100.0 100.0
2. TERIRPTEE Z BEERE
e Hoth | AX%ESH | BEEESE
AR IRE R 26 40.6 40.6 40.6
=) 37 57.8 57.8 98.4
R 1 1.6 1.6 100.0
4R 64 100.0 100.0
2. TERHMZRTE: 2 BiE 2Bk
3.
e Btk | AX%ESE | EREStE
AR IRE R 25 39.1 39.1 39.1
=) 37 57.8 57.8 96.9
RRE 2 3.1 3.1 100.0
4R 64 100.0 100.0
4. BpHRME B2 E IR
e Hoth | AX%ESH | BEEESE
AR IRE R 26 40.6 40.6 40.6
=) 36 56.3 56.3 96.9
RRE 2 3.1 3.1 100.0
4R 64 100.0 100.0
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TR % 116
3R 16 %
-;ﬁ{ R E L 0

1. SBMERISEZEIR 7

B¥4 53R

[5—&0 BsEER]

[ERsyew

HRHIE TEE

X SR

AR LEP(ERSEEN)

15 93.8

16 100.0

1 6.3

93.8
6.3
100.0

100.0

93.8

[ERsyew

HRHIE T

EX =R

R 2R 15

Hst 16

93.8
6.3
100.0

93.8
6.3
100.0

93.8
100.0

3. SRR M 2

[Epz)>

AREVETEE

N IEps

HH AALE
TEE R
%)
B

szt

[Ty

i

3 18.8
1 6.3

11 68.8

16 100.0

18.8
6.3

68.8

6.3
100.0

18.8
25.0

93.8

100.0
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4. SEHAIAREHYE TR ?

RE Btk | ARESEE | BEESLE
AR B ISR E 2 12.5 12.5 12.5
B CE) HF 4 25.0 25.0 37.5
TTBCERP 9 56.3 56.3 93.8
BEE 1 6.3 6.3 100.0
4Ern 16 100.0 100.0

RE Hootk | AREVESTE | EEESLT
a0 2 4 25.0 25.0 25.0
e 11 68.8 68.8 93.8
Bk 1 6.3 6.3 100.0
Hest 16 100.0 100.0

6. sEHEH AR ?

KE Btk | BREVESLE | BEEESLT
AR 20A 1 6.3 6.3 6.3
23N 1 6.3 6.3 12.5
40N 1 6.3 6.3 18.8
50N 1 6.3 6.3 25.0
Bk 12 75.0 75.0 100.0
Haat 16 100.0 100.0

7. FREEATTHIEH TEEEA RS 2 (5H)

KE Horth BRHESEE | BEESE
B KBEESETT 3 18.8 18.8 18.8
ESREEINE i 12 75.0 75.0 93.8
B 1 6.3 6.3 100.0
Hast 16 100.0 100.0
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8. HAIEERITTIRE B —8 ?

K8 Bt ARHIEIEE | BRESEE
B BEESE 2 12.5 12.5 12.5
BRI 13 81.3 81.3 93.8
Bl 1 6.3 6.3 100.0
4zt 16 100.0 100.0
9-1. 35MEFRAE TAEFTAEM Ry el 2
K [EFaew ARyEStE | BEESTE
B BN 15 93.8 93.8 93.8
99 1 6.3 6.3 100.0
4zt 16 100.0 100.0
9-2. BEREEN - SBRFTEMSTE ?
K [ERa v AREIEIEE | BREEE
a0 EER 1 6.3 6.3 6.3
Gt 1 6.3 6.3 12.5
Rl 1 68.8 68.8 81.3
s 1 6.3 6.3 87.5
&t 1 6.3 6.3 93.8
99 1 6.3 6.3 100.0
dazt 16 100.0 100.0
9-3. BEFEISN - sREREIR K& > FIal: H AR ?
T =tk ARG | BEASE
A pha 15 93.8 93.8 93.8
99 1 6.3 6.3 100.0
4zt 16 100.0 100.0
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1. $HEEFEEEE R (BT TROtHYESESAESIR - AR R LIE ?

(=& BRG]

RE Btk | BREVESEE | BEEESTE
a IEEAEED 9 56.3 56.3 56.3
A 6 37.5 37.5 93.8
B 6.3 6.3 100.0
dazt 16 100.0 100.0
2. IWHAMILIEANR » EOFEEMEFENR?
[ERsyew ARG | BEASE
B BE 15 93.8 93.8 93.8
Bl 1 6.3 6.3 100.0
4zt 16 100.0 100.0

3. H AR E RS SEAE T B LA E R BRI E Ry {2

T =tk ARHIEIEE | BERASTEE
B JEEES 10 62.5 62.5 62.5
& 5 31.3 31.3 93.8
B 1 6.3 6.3 100.0
4t 16 100.0 100.0
4. fEH HAT TR im e S ] 2
T 7rEE ARHIEIEE | BERASTE
B JREEE 2 12.5 12.5 12.5
T 13 81.3 81.3 93.8
B 1 6.3 6.3 100.0
e 16 100.0 100.0
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5. 5%

RN R TER TR D)

5.1 HIEMIEETL

y YR

JONEEY

Fole KHY Fofel 2

RE BHote | AREVESEE | BEESTE
=L S 2 12.5 12.5 12.5
ey 13 81.3 81.3 93.8
B 1 6.3 6.3 100.0
Yast 16 100.0 100.0
5.2 B[S K AT AR
T Btk | BREVESLE | BEEESLT
=i S 4 25.0 25.0 25.0
e 11 68.8 68.8 93.8
B 1 6.3 6.3 100.0
Yast 16 100.0 100.0
53 SREEHIEELE)
T Btk | BREVESLE | BEEESLT
=i S 10 62.5 62.5 62.5
e 5 31.3 31.3 93.8
B 1 6.3 6.3 100.0
Yast 16 100.0 100.0
54 MHNEFREH
T Btk | BREVESLE | BEEESLT
=i S 10 62.5 62.5 62.5
e 5 31.3 31.3 93.8
B 1 6.3 6.3 100.0
4z 16 100.0 100.0
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5.5 tEEE)

RE Hortk BRWESE | BEESTE
B R 15 93.8 93.8 93.8
P& 1 6.3 6.3 100.0
4T 16 100.0 100.0
56 :ESEH
KE Hortk ARWTESEE | BEESEE
B R 14 87.5 87.5 87.5
e 1 6.3 6.3 93.8
PEE 1 6.3 6.3 100.0
4T 16 100.0 100.0
5.7 SHIEFETRIEE)
KE Hortk ARWTESEE | BEESEE
B R 11 68.8 68.8 68.8
e 4 25.0 25.0 93.8
PEE 1 6.3 6.3 100.0
4T 16 100.0 100.0
5.8 L LAk ~ lREEH
KE Hortk ARWTESEE | BEESEE
B OREE 15 93.8 93.8 93.8
P& 1 6.3 6.3 100.0
4 16 100.0 100.0




5.9 FE(LWIFEEEE BN

B [ERa v ARHIEIEE | BREEE
=F QS 14 87.5 87.5 87.5
iz 1 6.3 6.3 93.8
Bl 1 6.3 6.3 100.0
Yazt 16 100.0 100.0
5.10 HLAfHIR
RE Hotk | ARAVEZIE | BEESLG
LGS 15 93.8 93.8 93.8
Bl 1 6.3 6.3 100.0
Yazt 16 100.0 100.0
6. fRISEERTIBEA S - SRR ELE 2

6.1 JEAEREERETT

T =tk ARHIEIEE | BEAESTE
S 8 50.0 50.0 50.0
e 8 50.0 50.0 100.0
4 16 100.0 100.0
6.2 FHEEEERETT
K Hortk ARG | BEESTE
=L QTS 11 68.8 68.8 68.8
iz 5 31.3 31.3 100.0
4 16 100.0 100.0
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6.3 ARG E)5E

RE Hortk BRWESE | BEESTE
B R 14 87.5 87.5 87.5
S 2 12.5 12.5 100.0
4T 16 100.0 100.0
6.4 EXE1ERE
KE Hortk ARWTESEE | BEESEE
B R 13 81.3 81.3 81.3
e 3 18.8 18.8 100.0
4 16 100.0 100.0
6.5 [IREMEHEET]
RE Bk ARESEE | BEESEE
AR OREE 8 50.0 50.0 50.0
BEFE 8 50.0 50.0 100.0
4 16 100.0 100.0
6.6 ElHTAE
RE Hortk BRWESE | BEESTTE
B R 13 81.3 81.3 81.3
e 3 18.8 18.8 100.0
4T 16 100.0 100.0
6.7 LIE4CE ~ E(ERUHFRIEHAE
KE Hortk ARWTESEE | BEESEE
B R 14 87.5 87.5 87.5
e 2 12.5 12.5 100.0
4 16 100.0 100.0




6.8 EHEHLIEMAE
RE Horkh BRWESE | BEESTE
B Ok 15 93.8 93.8 93.8
e 1 6.3 6.3 100.0
Qs 16 100.0 100.0
6.9 YNEERET)
RE H5rkh ARWTESEE | BEESEE
B ORE 10 62.5 62.5 62.5
efE 6 37.5 37.5 100.0
4 16 100.0 100.0
6.10 HAt
RE H5rEE ARG SE | BREESEE
B R 12 75.0 75.0 75.0
e 4 25.0 25.0 100.0
gt 16 100.0 100.0

7. MRBEEER TR - TN LR v E R A ?

7.1 JEIRERET]
K [EFaew ARyETtE | BEESTE
=S 5 31.3 31.3 31.3
ez 11 68.8 68.8 100.0
4 16 100.0 100.0
7.2 FHEEEERET
T =tk ARG | BEASE
S 5 31.3 31.3 31.3
e 1 68.8 68.8 100.0
4 16 100.0 100.0
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7.3 NEREE)5E

RE Hortk BRWESE | BEESTE
B R 14 87.5 87.5 87.5
S 2 12.5 12.5 100.0
4T 16 100.0 100.0
7.4 ExRE1ERE
KE Hortk ARWTESEE | BEESEE
B R 12 75.0 75.0 75.0
e 4 25.0 25.0 100.0
4 16 100.0 100.0
7.5 FOREREREET]
RE Bk ARESEE | BEESEE
AR OREE 10 62.5 62.5 62.5
BEFE 6 37.5 37.5 100.0
4 16 100.0 100.0
7.6 ElHTAE
RE Hortk BRWESE | BEESTTE
B R 16 100.0 100.0 100.0
1.7 TE&CE ~ EERU AT RIE AR
RE Hortk BRESE | BEESTTE
B R 15 93.8 93.8 93.8
S 1 6.3 6.3 100.0
4T 16 100.0 100.0




7.8 FEREHLIEAE

RE Hortk BRWESE | BEESTE
B R 16 100.0 100.0 100.0
7.9 JNGERET
RE Hortk BRESE | BEESTTE
B R 14 87.5 87.5 87.5
S 2 12.5 12.5 100.0
4T 16 100.0 100.0
7.10 HA
KE Hortk ARWTESEE | BEESEE
B R 13 81.3 81.3 81.3
e 3 18.8 18.8 100.0
4 16 100.0 100.0

8. WIRMIEHEBHENEE - T &

TEEERGE R — (82T ?

K Btk ARWEDEE | REESEE
Y HEEM 5 31.3 31.3 31.
B R s TR 2 12.5 12.5 43.
B aER AR 22 3 18.8 18.8 62.
AiTERF 1 6.3 6.3 68.
ASCEEFY 1 6.3 6.3 75.
P R B AR 2 12.5 12.5 87.
ERERF 1 6.3 6.3 93.
A A ERERF 1 6.3 6.3 100.

st 16 100.0 100.0
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[3E=80 HEREREEHIEHE]
1. R

KE Btk | AREVESLE | BEESLE

AR IFEWE 8 50.0 50.0 50.0
R 8 50.0 50.0 100.0
Hast 16 100.0 100.0

KE Btk | AREVESLE | BEESLE

AR IFEWE 8 50.0 50.0 50.0
T 8 50.0 50.0 100.0
Hest 16 100.0 100.0

KE Btk | AREVESLE | BEESLE

AR IFEWE 8 50.0 50.0 50.0
T 8 50.0 50.0 100.0
Hest 16 100.0 100.0

TE Btk | AREVESLE | BEESLE

AR IFEWE 8 50.0 50.0 50.0
T 8 50.0 50.0 100.0
Hast 16 100.0 100.0
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LERRINBERp A B84
BEs5ERE

TR KT TI01 FEREEE5ERY
FHAN BLFE T FHELVE
BUEH E B
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¥4 B30 3 0

EEg gL
E ’
IR E 8

7REE I8

AR E 0

[0 BEEEP]
L AT 7

KE Btk | ARESEE | BEESLE
AR TAEP(EBEEEN) 8 100.0 100.0 100.0

2. FBHETINIIEZ?

KE Byt | ARESEE | BEEIEE

ARH 2 8 100.0 100.0 100.0

3. SRR E R 2

RE Btk | ARESEE | BEESLE

AR FARFE 2 25.0 25.0 25.0
25 6 75.0 75.0 100.0
vl 8 100.0 100.0

A S H ARG HIERFTR1? (53 S A S i A O A E A5 2R T)?

RE Btk | ARESEE | BEESTEE

AREY BEHISEE 6 75.0 75.0 75.0
TTBGERP 2 25.0 25.0 100.0
Han 8 100.0 100.0
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5. WHANESEELEE

RE Btk BRESE | BEESE
R 2 12.5 12.5 12.5
= 87.5 87.5 100.0
4aFn 100.0 100.0
6. sEEHE S ?
RE Horkk BRESEE | BEESEE
BT 20A 12.5 12.5 12.5
P& 87.5 87.5 100.0
4 100.0 100.0

7. FREEATTHIEH TEEEA RS 2 (5H)

RE Horkk BRESE | BEESEE
BRHY  45EZEI0ETT 7 87.5 87.5 87.5
91008 CLA = 1 12.5 12.5 100.0
4EF 8 100.0 100.0
8. H RSN TSN —3E 2
K Bk BRESE | BEESE
BRI ELEEES 1 12.5 12.5 12.5
B LGSR 5 62.5 62.5 75.0
B R 2 25.0 25.0 100.0
4 8 100.0 100.0
9-1. BERIAIRAE TAERTAERY Rofel 2
RE Horkk BRESE | BEESEE
BT BN 100.0 100.0 100.0
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9-2. BEFEIA - FERHFTERTE ?

T Hott | BRESEE | BEAESTE
AR Gt 2 25.0 25.0 25.0
fE e 2 25.0 25.0 50.0
B 2 25.0 25.0 75.0
fEHER 1 12.5 12.5 87.5
e 1 12.5 12.5 100.0
vl 8 100.0 100.0

9-3. BEFEISN - SHEREEIR K& > FIA: HAR S ?

KE Hoyte | ARESTE | BEEIEE

BRH P& 8 100.0 100.0 100.0
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(58 BIEHE]
L SRR (FT) SRS - ARTRAE LR ?

KE Btk | ARESEE | BEESLE

BN JEEAEL 5 62.5 62.5 62.5
HE) 3 37.5 37.5 100.0
4aFn 8 100.0 100.0

2. WHANTIENE > BEHREAEFHEENR?

KE Hoyte | ARESTE | BEEIEE

AR FE 8 100.0 100.0 100.0

3. JEHAIRT B ey SERE T B T AE R 2R AR TR E Ry (] 2

RE Btk | ARESEE | BEESTEE

AR EERTE 5 62.5 62.5 62.5
e 3 37.5 37.5 100.0
il 8 100.0 100.0

4. G H AT LIRS aeim e fy ] 2

K Hootk | ARESEE | BEESTE
AR JEEWE 4 50.0 50.0 50.0
R 3 37.5 37.5 87.5
BN =0 1 12.5 12.5 100.0
vl 8 100.0 100.0
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5. 5%

5.1 HIEMIEETL

SRR TFARTER

(3R R R RI B 2

K EOtE | AxEsats | EmEath
FEESEN I S 1 12.5 12.5 12.5
HEFE 7 87.5 87.5 100.0
4B 8 100.0 100.0
5.2 FIT[EEE R AT AR
Ky EatE | AREsSt | ERESt
By R 4 50.0 50.0 50.0
HERE 4 50.0 50.0 100.0
YA 8 100.0 100.0
5.3 SRIEEEHIEE /&)
Ky ot | AxESl | ERESHT
BRH) R 7 87.5 87.5 87.5
HERE 1 12.5 12.5 100.0
4B 8 100.0 100.0
54 IINEREE
K EOtE | AxEsats | EmEath
BN Rk 8 100.0 100.0 100.0
5.5 tE &S
K EOtE | AxEsats | EmEath
FEESEN I S 8 100.0 100.0 100.0
56 sEEEYH
K EOtE | AxEsats | EmEath
BN Rk 8 100.0 100.0 100.0
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5.7 ZHARE R EE)
RE Btk BRESE | BEESE
FEEYGO N 4 50.0 50.0 50.0
R 4 50.0 50.0 100.0
4B 8 100.0 100.0
8 T - lRisEEs
RE Horkk BRESE | BEESE
FEEYGOE N 8 100.0 100.0 100.0
5.9 BTl ER B
RE =5tk BRESE | BEESE
FEEVGOIE N 8 100.0 100.0 100.0
5.10 HAthg/[%k
RE Horkk BRESE | BEESE
FEEYGOEE N 8 100.0 100.0 100.0

6. MRIZLE

6.1 JEEREERET]

ERFFRERIEER - B EZ B S Rk DI EL N IREEREST ?

KE otk | ARESE | BEESE
R R 5 62.5 62.5 62.5
ERES 3 37.5 37.5 100.0

HErn 8 100.0 100.0
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6.2 FHEEERET]
RE Btk BRESE | BEESE
By R 62.5 62.5 62.5
S 37.5 37.5 100.0
4aFn 100.0 100.0
6.3 ARG EhEE
RE Horkk BRESE | BEESE
PRV S 87.5 87.5 87.5
e 12.5 12.5 100.0
4aFn 100.0 100.0
6.4 EXE1ERE
RE Horkk BRESE | BEESEE
PRV N 75.0 75.0 75.0
e 25.0 25.0 100.0
4EF 100.0 100.0
6.5 [IREMEHEET]
RE [Epaen BRESTEE | EBEESE
FEEVEN I S 25.0 25.0 25.0
e 75.0 75.0 100.0
4 100.0 100.0
6.6 ElHTAE
RE Horkk BRESE | BEESE
PRV S 75.0 75.0 75.0
S 25.0 25.0 100.0
4aFn 100.0 100.0
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6.7 LIFsCH: ~ BILRU R EHAE

T Hott | BRESEE | BEAESTE
AR R 8 100.0 100.0 100.0

6.8 &R ERIRE

KE Byt | ARESEE | BEEIEE

AR R 6 75.0 75.0 75.0
B 2 25.0 25.0 100.0
vl 8 100.0 100.0

6.9 YNEERE ST

T Hote | ARESEE | BEESTTE
LGOS 6 75.0 75.0 75.0
iz 2 25.0 25.0 100.0
4l 8 100.0 100.0
6.10 LA

KE otk | ARESE | BEESE

R R 8 100.0 100.0 100.0

7. MRBIEESER TR - TR RN IR e E R A ?

7.1 EEBEIERET]

KE otk | ARESE | BEESE

R R 5 62.5 62.5 62.5
ERES 3 37.5 37.5 100.0
HErn 8 100.0 100.0
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7.2 FHEEEERET]
RE Btk BRESE | BEESE
By R 37.5 37.5 37.5
S 62.5 62.5 100.0
4aFn 100.0 100.0
7.3 NPEEEIRE
RE Horkk BRESEE | BEESEE
FEEVEO I N 87.5 87.5 87.5
e 12.5 12.5 100.0
4 100.0 100.0
7.4 EXE1ERE
RE [Epaen B ESTEE | EBEEST
PR VGO N 87.5 87.5 87.5
BEFE 12.5 12.5 100.0
4 100.0 100.0
7.5 RHREMFEE
RE Horkk BRESE | BEESE
By R 25.0 25.0 25.0
e 75.0 75.0 100.0
4aFn 100.0 100.0
7.6 AlHEE
RE Horkk BRESE | BEESEE
FEEVEO I N 100.0 100.0 100.0
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7.7 T4 -

H TR A E B AR

RE Btk BRESE | BEESE
By R 75.0 75.0 75.0
S 25.0 25.0 100.0
4aFn 100.0 100.0
8 &\ RHYERISE
RE Horkk BRESEE | BEESEE
FEEVEO I N 87.5 87.5 87.5
e 12.5 12.5 100.0
4 100.0 100.0
7.9 YNEERET]
RE [Epaen B ESTEE | EBEEST
FEEVEN I S 100.0 100.0 100.0
7.10 HA
RE [Epaen B ESTEE | EBEEST
FEEVEN I S 100.0 100.0 100.0
8. WREIIIEA SIS 1 TEIEEERCEEH T2 —{EERFT 2
K Bk BRESE | BEESE
AR  HEEM 2 25.0 25.0 25.0
BB R A nTEE 1 12.5 12.5 37.5
HEEEER 2 25.0 25.0 62.5
ASTEEFY 1 12.5 12.5 75.0
EREEEY 1 12.5 12.5 87.5
TEEEERFY 1 12.5 12.5 100.0
4 8 100.0 100.0
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1. SR Re s HE

—_—

(=% HERBERIEHE]

K Btk BRESE | BEESTTE
AR FEEmE 7 87.5 87.5 87.5
TR 1 12.5 12.5 100.0
4aFn 8 100.0 100.0
2. {ELIREATER 2 B
RE Hortk BRESE | BEESE
By IEEWE 6 75.0 75.0 75.0
ip=Y 2 25.0 25.0 100.0
qafn 8 100.0 100.0
3. TEEHMTFTE 2 A& ZHE
RE "ok BRESE | EEESE
By IEEWE 6 75.0 75.0 75.0
T 2 25.0 25.0 100.0
4afn 8 100.0 100.0
4. BIRIRft 2 BEE
RE Hortk BRESE | BEESTE
BRI FEERE 6 75.0 75.0 75.0
N=Y 2 25.0 25.0 100.0
4aF 8 100.0 100.0
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